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BEFORE AFTER

Brantford Example: North Park Street
between St George Street and Waddington Street
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VEHICLE KILOMETRES TRAVELLED (VKT)
The total kilometers travelled by all 
vehicles in the network during the PM 
peak hour.

VEHICLE HOURS TRAVELLED (VHT)
The total time spent travelling by all 
vehicles in the network during the PM 
peak hour.

Scenario 2018
Existing

2041
“Do Nothing”

2041
Increased Network 
Infrastructure

2041
Manage Travel 

Demand
VKT (km) 143,900 258,500 260,200 243,700

VHT (hours) 2230 4790 4590 4360
Average Travel Time 
(minutes:seconds) 04:22 05:56 05:41 05:55

Percent of network at or 
approaching capacity 0.44% 6.08% 5.16% 5.15%

WHAT DOES THIS MEAN?
With population growth, there will be an increase in demand on the road network. This means an increase in VKT, VHT, average travel time, and 
the percent of the network that is at or approaching capacity. However, increasing network infrastructure and managing travel demand will help 
accommodate the additional demand.

INCREASE NETWORK INFRASTRUCTURE MANAGE TRAVEL DEMAND

Insignificant change in VKT

4% decrease in VHT

15 sec decrease in average travel time 

6% decrease in VKT

9% decrease in VHT

Insignificant change in average travel time

IF WE…

15% reduction of network at or approaching capacity  15% reduction of network at or approaching capacity 

Increasing Network Infrastructure (increasing supply) and Managing Travel Demand (decreasing demand) are on the opposite ends of the 
spectrum when managing the performance of a transportation network. The ultimate solution will likely be a hybrid of the two scenarios.


